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sin(A+ B) = 2sin(A — B)
sinAcosB + cosAsinB = 2sinAcosB —2cosAsinB
- sinAcosB =3cosAsinB
tanA = 3tanB
sin(x + 0.5) = 2sin(x — 0.5) — tanx =3tan0.5
18

x = 1.02 rad, % =212 rad

12




aaligll pghil ,ibgll j5)0ll ';_!hhg,'}{ﬁl

National Center for Curriculum Development {*jrgtional Center

urriculum Development

Salsal) s daslead) Bas g

Bas gl Al daiud

16 dakua 5o ()8 ddiia

d
1 —y:8x3—10x
dx
. dy 1
dx 2x
dy 2
3 Ny
dx 55/(2x)*
d 2 4
4 TR T
dx Xk g
dy 23
5 — = -
dx 8 2Xe
y =6x?+x—15
6 d
—y:12x+1
dx
16 daday = (ax + b)" 58V diida
1 [ _ oamiloa
dx
5 dy — —2
dx 1—4x
dy 7
3 T =TT
dx  2(7x +5)z
17 dada dowigh cdlgaill Jlaniuds ibadl Jatl
1

13




S aaligll pghil ibgll j&gl PR ]

National Center

Tl National Center for Curriculum Development AR LK
P
3
9] 2
= |
{
|
|
9| 1 2 3 5 ) 7

17 6 -5 ZETEalEdisl D

14




aaligll pghil ,ibgll jS)all @'}ﬁ

National Center for Curriculum Development

dganall ue Jalal) 1 oY) Luall

1
1 fx6dx:—x7+C
7
dx 1. ylisa)lps
v =
v ment 74
3 f x——F——+C
2 1,1,
4 f(x +x—1)dx:§x -I-Ex —x+C
5 f—dx——le/_—i—C
fod S P N S)
X = ==mX¥2 X2
6 i 3
i 1 8
7 (x2+3)(x—1)d.x=2x4—§x3+§x2—3x+C

1
8 f(3—2x)7dx=—ﬁ(3—2x)8+(]

T sldpli3 2
9 f(xa—kxa)dx—ZxB-l—Exz-l—C

1
10 j dx =2(x —4)2+C
x—4

4 4
11 f(i/—;—7)dx:5x§—7x+6'

n 3
12 j (2x—5)2dx=E(2x—5)§+C

= f(0.6t —10)dt = 0.3t* — 10t + C, V(0) = 100
13
V =0.3t*— 10t + 100

14 V(10) = 0.3(10)2 — 10(10) + 100 = 30 [

15




asligll pghil ihg!l jS 0l

National Center for Curriculum Development

(.
f(x)—f;dx—z(ax+3)%+(]
15 B Vax+3 T a )
—2v3
f(0)=20 - (= a\/—
fla)=2V2-2 - %(a2+3)%+_2a\/§=2\/§—2
vaz+3-vV3=(v2-1)a
i Vaz+3=(V2—-1)a++3
a?+3=(3-2V2)a?+2(vV6 —V3)a+3
a=(3—2\/§)a+2(\/g—\/§)
(=2 +2v2)a = 2(V6 — V3)
_ 2(v6—v3) _ 2v3(v2-1)
@= —242v2 ~ -2(1-v2) =3
f(x+2)2dx=f(xz+4x+4)dx=%x3+2x2+4x+C
17 f(x-l— 2)2dx =%(x+ 22 +C A1,

16




asligh pabil Libgh j5gll it

National Center

National Center for Curriculum Development

? for Curriculum Development
Jgdacall Jalsal) ¢ SEH Cupall
3
1 f(3x2+7)dx=40
1
2
2 f(4x3—1)dx=14
1
B 11
Vx—2)dx = ——
3 jl(\/; Jdx = ——
7q 1
4 LEdeXZE(lﬁ—aS)
27
5 f\/3xdx=l62
0
> 637
6 f(2x2—3x+7)dx:——
5 6
4x—x*=0 - x(4—x)=0 > x=0 or x=4
4 1 1% 32
7 Azf (4x — x*)dx = 2x* —=x3| = —
; 3% |, " 3
@)Ash}i;@ fygilaall diaiall dals Y
X j9a 399 A ak f(x) = x% + 1 OLBY (soxie
oy 50
Q AZI(X +1)dx:?
2
@fshji;@ Zogihall Zakial dabise oY
x3—=5x2+6x=0 - x(x*-5x+6)=0 - x(x—2)(x—-3)=0
x=0 or x=2 or x=3
Z 2 8 5 3
2 Azj (x3—5x2+6x)dx—f (3 =524+ 6x)dx==+-—=—
L , 3 EaE
:u__,fsh}%@ gl dalidl dabes oY
a
2 3
P , , A= d =l (2
(a,Va) fo\/z r=2a
10 3

ava = a
OAPB Jibticadll dalise 3 (g5t OPA Zustlaall dibaial dalive )

55l OAPB (Juliicadl) dabine

17




asligll pghil ihg!l jS 0l

'-..ff-.r National Center for Curriculum Development
3 3
V= f m(x? + 5)%dx = f m(x* 4+ 10x% + 25)dx
0 0
| (b i 5)|
=T SX 3 " X .
243
=7 (T+ 90 + 75) —(0) | = 2136
8 5 8 1 8
V:f (Vx) dxzj ﬂxdxzﬂr(—xz) = 32m
0 0 2 0
fg gy = 2y
(@) dx =3
8
::>j xdx, =: 161
a
1 8
12 — n(zxz) = 167

a

=3 oy ((32) - (%az)) = 167

1
= BZ_EQZ =16

= g% =5

=5 0 = 4R, (%y(ld%’)

18




K
o

o e

®

asligll pghil ihg!l jS 0l

National Center for Curriculum Development

CYLaaY) Adaldl) Bas )

Bas gl Al daiud

20 daba Adipie dyall diceal) milsil) sal Sadl) bbia Jlexid

(H,1),(H,2),(H,3),(H4),(H,5),(H,6)
(F;:1); (75 2):(T:3),(T:4); (T 5):(T:6)
(1,H),(2,H),(3,H),(4,H),(5,H),(6,H)
(1, T), (2 )3 ) E4- 1) (5, T), (65-F)

20 daka duigpds Ayl AiCeal) milell) sl Jlada¥) lda Jleaiol

I I . S S ¢
it x X X X

st X X %X %

20 daka dsdliia) dajgall Jlaial alag)

[\

21 dada ddfiwall b duajsally cddfiuall Sajgaldl Jlaial slag)

43
B1

48
91

19




[éﬂ aaligll jghil ihgll jS)gl ol
& National Center for Curriculum Development Natioralicenter
(Blsls okl s
8!
1 o 1680
2 7P3=210
3 7C3=35
4 0Co=1
> sPs=120
1

s
7 192
8 20C2=190
9 8C2 X 12Co +5C; X 1G5 +1,C4 = 4103
10 7C3 X 12Cs + 7C4 X 12C4 + 7C5 X 12C3 = 49665
11| pa)=—

168

144
12 |P()=5==02
3 |pay=2221 03

720

20




asligll pghil ihg!l jS 0l

National Center for Curriculum Development

crlgdad) jadall 1 AU Gl

1 X=1{1,234}

5 X=1{0,1,2,3,4,5,6,7,8}

3 X ={2,4,5,6,78,10,11, 14}

X 0 1 2

4
P(X) 121 22 1
144 144 144
5 b+0.4+2b+0.12=1 —» b=0.16
6 P(Y = 2N&EESE (=00 | = 1 — 06E=00.84

7 PA<Y<7)=1-P(Y¥=1)=1-016=084

E(X) = SIOSER0X0.25 + 2803501300025 = 1.3

8
Var(X) =1x 015+ 0% 0.25+ 4 x 0.35 + 9 x 0.25 — (1.3)? = 2.11
X 1 ) 3 4 5 6
- P(X) 35 55 | 105 | 140 | 110 | 75
520 | 520 | 520 | 520 | 520 | 520
10 " 35 110 315 560 550 n 450 2020
( )_520+520+520+520+520 520 520

21




aaligll pghil ,ibgll j5)0ll ';_!hhg,'}{ﬁl

National Center for Curriculum Development

= S Rt U
Chledeially Cldlital) dalil) Sas gl
Bas gl Al daiud
24 daka hora g baad agaa ala)
a, =4, L Ty a; =10 , iy = 3% az =16
a, =0, NS £ a; =8 , ine=lien! az = 24
a, =6, a, =10, a; =14, a, =18, as = 22
24 daka Jara o330 bad Jlas]
1 4,6,8,10,12,14, 16
2 3,6,9,12,15,18,21
3 2,4,8,16,32,64,128
25 dako clliall alal) al) slag)
1 a, =7n—4
2 a, =n*>+1
3 a, =n*+4
25 dadue dase cldliie daigh bla) oo el
@ = Sn ekl
EMdadally cldlmadl 3N Gupad
)| 1 1
1 |m=1l,  @=-3, &=, &=-g
2 oy = =3 Oy = =12 ; gy = =27 ; a, = —48
3 a, =4, @ =9 ; a; =16 , Gy = 25
4 a, =0, Ap.=2, a; =6, Ay=12
5 q; =0, a5 ='2= ay = (M ay =2
6 a, =1, a, =4, as; =27, a, = 64
7 1+V2+V3+2+45
8 4+10+18+28+40+54+70+ 88+ 108
1 3 5 7
9 |3tstits
10 a, = 4n

22

National Center




[ aaligll pghl ibgll j4o Al

B4 National Center for Curriculum Development National Center

Q for Curriculum Development

20
11 Z 4k = 840
Je=i

12 a, = (n—1)>2

6
13 z k2(—1)k
=1

4
14 2(11.1 —0.3k)
k=1

8
s |32
k

k=1

6 U]
16 1000 | —
Z (10)
k=1

Iosbuad) cBhedially il A (s

| @y = —6n4+28 ; Ao = —92
2 B = Sn— 12— a,; = 88

3 . = 1.5 i o = 53.5
4 a, = Tn+13 > Qygeg = 713

5 @5 = 195

6 55 =815

7 S30 = 2820

8 S30 = 3870

9 14—-12=2, 12 —-10=2 2 Lguoleod dpluvs Aot
10 a, = 2n+8

1 S14 = 322

12 a; =8

13 gd=23

14 31

23




aaligll pghil ,ibgll j5)0ll ";_!hhg,'}{ﬁl

National Center

S National Center for Curriculum Development SoE L Iricail i DOVel PmERt
daudigl) Chludedially clalliial) cEE) (Al
1 = gawhil daswicn
2 - gl A
3 Mo =
4 W 1=
5 o 8
® 3
6 a, =6
- S 18
= — - ==
7 "3 ”
2 s 18
= —= - = ——
1~ "3 IR
Iyl
8 =
‘& “( k )
8
S —
* 725
10 Sip ~ 465.64
11 a, = 500(1.03)"!
12 as = 562.754
13

S120 & 561849.786

24




